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1. In 'create tablespace' command, which is required? (Choose one)

A. Datafile

B. Permanent

C. Minimum extent

D. Default storage

Answer:  A. 

2. What's the SQL command to get the total available space for each tablespace? (Choose one)

A. select tablespace_name, max(bytes) from dba_free_space;

B. select tablespace_name, max(bytes) from dba_free_space group by tablespace_name;

C. select tablespace_name, sum(bytes) from dba_free_space;

D. select tablespace_name, sum(bytes) from dba_free_space group by tablespace_name;

Answer:  D.
3. You try to create table using the following statement. Assume the USERS tablespace is dictionary managed.

CREATE TABLE xyz (empno number) tablespace users storage (initial 8k next 64K pctincrease 50);

      After the table has been inserted a lot of rows, and the DBA_SEGMENT.extents shows 5 for this data segment. If the table keeps growing and the 6th extent needs to be allocated for additional storage. What's the size of the 6th extent.  (Choose one)

1M

324K

216K

64K

8K

128K

Answer:  B.

	1
	2
	3
	4
	5
	6

	8K
	64K
	64K*1.5 = 96K
	96 * 1.5 = 144 K
	144 * 1.5 = 216K
	216 * 1.5 = 324K


4. For the following tablespace 

create tablespace geoli_small datafile '/home/geoli/geoli_small01.dbf' size 100K;

When it’s full, what are the commands to expand the tablespace storage(e.g. you estimate the tablespace should be around 8M)? (Choose three) 

A. alter tablespace  geoli_small datafile '/home/geoli/geoli_small01.dbf'  size 8M;

B. alter tablespace  geoli_small datafile '/home/geoli/geoli_small01.dbf'  resize 8M;

C. alter database datafile '/home/geoli/geoli_small01.dbf' size 8M;

D. alter database datafile '/home/geoli/geoli_small01.dbf' resize 8M;

E. create tablespace geoli_small datafile '/home/geoli/geoli_small02.dbf' size 8M;

F. alter tablespace geoli_small add datafile '/home/geoli/geoli_small02.dbf' size 8M;

G. alter database datafile '/home/geoli/geoli_small01.dbf' autoextend on next 1M maxsize 8M;

Answer:  D. F. G.

                See Class 4 Handout, Page 17/19  and Note
5. Which command(s) can regain all or part of the storage allocated to a table XYZ with 100 extents? (Choose two)

A. drop table XYZ;

B. delete XYZ;

C. truncate table XYZ;

D. alter table XYZ pctused 99 pctfree 1;

Answer:  A. C.
6. You are monitoring the distribution of space allocated to the ORDERS table. Which data dictionary view could you query to display the number of blocks used by the ORDERS table in each DATAFILE.  Assume that the tablespace where ORDERS table reside on has multiple datafiles?  (Choose one)
A. DBA_EXTENTS

B. DBA_SEGMENTS

C. DBA_FREE_SPACE

D. DBA_DATA_FILES

E. DBA_TABLESPACES

Answer:  A.
        Example: /home/geoli/check_dba_file_2.sql

7. What's the correct syntax for creating the temporary tablespace temp123? (Choose one)

A. create tablespace temp123 datafile '/home/geoli/temp123.dbf' temporary size 8M;

B. create temporary tablespace temp123 datafile '/home/geoli/temp123.dbf size 8M';

C. create temporary tablespace temp123 tempfile '/home/geoli/temp123.dbf' size 8M;

D. create tablespace temp123 tempfile '/home/geoli/temp123.dbf' temporary size 8M;

Answer:  C.
                See Class_6 handout page 6-4

8. Which command(s) can be used to rename a datafile location to another? (Choose two)

A. alter database rename datafile 'filename1' to 'filename2';

B. alter tablespace ts_name rename datafile 'filename1' to 'filename2';

C. alter database rename file 'filename1' to 'filename2';

D. alter tablespace ts_name rename file 'filename1' to 'filename2';

Answer:  B.  C.  
                See Class_6 Handout Page 6-5 “Two ways to rename Datafiles in tablespace:” 

9. When you create a non-standard block size for a tablespace using the following command. 

create tablespace geoli datafile '/home/geoli/test01.dbf' size 2M reuse extent management local uniform size 1M blocksize 32K;

Which DB parameter needs to be set accordingly? (Choose one)

A. shared_pool_size

B. db_cache_size

C. db_32k_cache_size

D. db_block_size

E. db_block_buffers

Answer:  C. 
See Class 5 Handout Page 17/19: 

When you create a tablespace, in order for the BLOCKSIZE clause to succeed, you must have the DB_CACHE_SIZE and at least one DB_nK_CACHE_SIZE initialization parameter set. In this case, n = 32. 

10. When the DBA issued 'ALTER tablespace XYZ offline;' Which of the following is ture? (Choose one)

A. The tablespace will remain offline even when the DB is restarted next time.

B. Users can insert/update/delete rows in tables that are on this tablespace.

C. Users can only query the tables that are on this tablespace.

D. It's possible one of the datafile of tablespace XYZ is still online.

Answer:  A.

                Because others are not right.
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